Jo Kondo — Still Life
Aggregates sorted by number of “P’(s)

NB:

Accidentals apply ONLY to each "agg".

Meas.s with purple letters above contain one or more major or minor triads in some voicing and/or inversion. The letters tell
the specific triad(s).

Meas.s with purple triangles above contain one or more PC semitone triunes (as defined in the text).

Aeas.s with bilious slashes or Xs above contain one or more PC semitone dyads (as defined in the text)

Meas.s with green ovals contain clusters other than dyads and triunes.
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4Agg (all samples = 11; unique samples = 9)
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6Agg (all samples = 12; unique samples = 11)
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All samples = 105/ Total unique = 80



